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35 & feIw 3reqeer [Instructions to the Candidates

1. 39 @RI A HTdeeT 7 T oFT 37T 3iTeT-olTeeT 32T & HTUR 0¥ 3ot ffla wdier & fore smefia
fomar aran &1 afe 39t 99 A ey gere oY arcld wiafSe Y & a1 fasme & HeTaR 3raferd Jeadr

BT TE & cil AT 33-ATRIAT 3rediched HY &Y AT

You have been called for the written test based on the online data fumished by you in the web application, If you have
wrongly entered any information in the web or you do not possess the required qualification as per our advertisement,
your candidature will be rejected.

2. et ater & frliere Y 3uTRufa & 39! gfe- e I gEaTeit ST a1RT|

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

3. WRE-UH, 80 AT A Fohel TRA-GRecAeR 6 T A & 3 & Hr 39T 02 6 & |

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

4. 9T & SecR &1 & AT g@lr 9fd |t 37ereT HTAIR Sea-qRecrhr & s

A separate OMR answer sheet with duplicate will be provided to mark the answer options.

5. Ucdd U HiaU 04 3% gl 3R UAF e 3cal HiU UFH 3 el SATeeT |

Each question carries 04 marks and one mark will be deducted for each wrong answer.
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1

12

13.

14.

15;

m@”mﬁﬁﬁ@geamwmmﬂm@@ HITHNR Se GRRGH WY e worey o7
rgar mfze

Question booklet series code (A/BICIDIE) printed on the right hand top corner should be written in the OMR
answer sheet in the place provided.

ma-gﬁawﬁmmwaamw%@r

Enter your Name and Rol| Number correctly in the question booklet.

mmm.mﬁmgﬁmmmmﬁmmawaﬁmma

All' entries in the OMR answer sheet should be with bluefblack ball point pen only.

wwmmﬁwmémagﬁﬁmﬁ#mwmmﬁaﬁml

The questions will be objective type with four options out of which only one will be unambiguously correct.

39, w-gﬁawﬁ%m@ﬁ%am,ﬁmﬁwﬁ%ﬁm@%@mmw-

point pen.

w;re;r%%trmmwmmm:

Multiple answers for a question will be regarded as wrong answer,

T, TE AT, et Y gy ardt 21 sty |

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be allowed
inside the written test hall.

@wqﬁﬁﬁwaﬁvﬁmw-gﬁ?mﬁm#mﬁmﬁmaﬂrwmm-gﬁm
orktee o) @ crer ey Y arerdy

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over the original
OMR answer sheet to the invigilator and retain the duplicate copy with you. i

cr%;r-grf‘@?m&r&mﬁm?‘rwr@m?l

The question booklet can be retained by the candidates.

qﬁm%mdﬁ%%%ﬁ@wﬁwmﬁﬁa@ﬁﬂﬁ%i

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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3T &1 Aoft wiF-Ar § owe S99 3 a1 g A §

Fire class in which the fuel is gas or liquefied gas is

(a) Aoff TClass A (b) Aol &/Class B

(c) &ofr Hl/Class C | (d) Aofr 8/Class D

afeld} 99 Mg AT ———— FJAIAAT T IRYGAT § AGA g 3TERT
Vernier bevel protractor is a precision instrument meant for measuring angles precisely to an
accuracy of

@ T | NONEY

ey 17 (d 5°

HAE & G0 & Fad Ra Hed & 31 §

Ra value in surface roughness means
(a) Crilc i #Hel/Root Sum Square
(b) HET 3@ 3HAd/Centre Line Average
(c) TaI®F =T TEITS/Maximum valley depth
(d) Taiftie RET Sa/Maximum crest height

ferdly glsr 1 9R 38 lA-7 T A 3ifhd gar &2

The weight of the hammer is stamped in which part of a hammer

(a) #HUY/Face (b) 3eleT RT/Peen

(c)  Mel/Cheek (d) AF-HRI/Eye hole
SIS AlTH & IJqIR —— F fIuea g gl

As per BIS standard, there are fundamental deviations.

(a) 18 (b) 25 () 20 (d 16

3 1301/16



fmfafaa & 9 Fia-ar e A & yga 78 frar o ¥

Which of the following is not provided on combination set?

(a) Teex 85/Centre head

(b) WI¢FeXT §3/Protractor head
(c) dfFIR THe/Vernier scale
(@) FEaRe saat/Spirit level

ABTENT Afcwd U3 &7 Fera FioT
Included angle of ISO metric thread is
(a) 47.5°

(c) 60°

et 93 F yrdY sarg =Y

gl

(b) 55°
d) 45°

fafer garT Arar smar g

Method to measure effective diameter of a thread is by

(a) b US ATGHIACI/Screw thread micrometer

(b) o IR @/ Three wire method

(¢) ar aR faf/Two wire method
(@ 3UgFT FHVAL of above

(a) gar Sﬂ‘:@f/Heavy duty
(b) TU/Stumpy
(c) TTercm/Phillips

TF SR H AR 8 T B

screw driver has a square blade.

(d = [FFEar & & 313aY/Watchmakers screw driver

1301/16



10.

g

12

13.

¥ HT ARAT AT FAE & G H BISH, HAhedaT garm AuUiRa e adg

ATH ¥ =T ST B

The smooth surface, determined by the design and neglecting errors of form and surface roughness

is known as

(2)
(b)
(©)
(d)

qrEdfae Tds/Real surface

Hdg FI GIEIMI=T/Surface roughness
SATfANT TAdg/Geometrical surface
UITdT Tdg/Effective surface

1ET FIEaT SEATT FT db R 7T @ audaa W ——— &7 f@#or gar &
38 AR Fifas g #ea §

While heating plain carbon steel, the temperature at which is formed is called lower
critical point.

(a) IS/Ferrite (b) UdATSE/Pearlite

(c) TEACISC/Cementite (d) 3TC=TTSe/Austenite

g T & UROT 8 O 3UYFd Tk — &

Most suitable chuck for holding thin job is

(a) ?:ﬁ?ﬁ'ﬂ' doh/Magnetic chuck

(b) aq—qmﬁ?r doh/Air-operated chuck

(c) @Iee Td/Collet chuck

(d) 2 SI«ST aTelm Hehal Teh/2 jaw concentric chuck

s weles @ RFET suor & e W HftF Tl & ST
The tool made of cemented carbide wear out faster at |
(a) ¥ IFIAT G/Slow speeds

(b) FEIH ATATT T/Medium speeds .

(c) o FMATT U /Fast speeds

(d) 3 g AIfaTT W Very fast speeds

5 ' 1301/16



14. ﬁmmﬁmﬂﬁéaﬁﬁm =t

15.

16.

i

Number of grades of tolerances in the BIS system are
(a) 12 (b) 16
(c) 18 (d 20

umfé’gaﬁaﬁwﬁf%wmqﬁamwmﬁ%ﬁvmnmqﬁmﬁm
& o e farar ser wifge

In order to achieve a specific surface finish in single point turning, the most important factor to be
controlled is

(@) FdeT Hr IERTS/Depth of cut
() Fda gTi?l'/Cut‘cing speed

(¢) hIS/Feed

(d) 3SR & F/Tool rake angle

oo R s & v YZah Icaiarar gl

The factor responsible for the formation of discontinuous chips is

(@ P Fda a1fd qur s 3 v
Low cutting speed and large rake angle
(b) T et 7Y FUr Ber IF @y
Low cutting speed and small rake angle
(©) 3= Fda fy Tur 937 I Fror
Higﬁ cutting speed and large rake angle
(d) 3= ST AT TUT BeT IF FoT

High cutting speed and small rake angle

ferarfaf@a & sla-ar SueeT g @ s 38

Which of the following is not a part of capstan lathe?

*

(2) TH/Chuck (b) JTF TIh/Tail stock
(c) o%/Spindle (d) eT Gi¥e/Tool post
6 1301/16



18.

19.

20.

2l

ffaf@a 3uawor gerdf & frger aaAe Hed I=add g, el de& dg 39l €odl

TATT [T &7

Which one of the following tool material has highest temperature value up to which it retain its

hardness?

(a) 3= a1fd T9Ta/High speed steel
(b) W/Ceramics

(c) Shlee] STUT/Carbon steels

(d) TS/ Stellite

7T qoleted ————— R I el ¢

Sigma comparator is a type of comparator.

(a) TifAs/Mechanical (b) Selreii=ie/Electronic
(c) aTc/Pneumatic (d) YRIfAS/Optical
¥ sua —— & v ygFd B Sid §l

Trepanning tools is used for
() € QYe/Small boring (b) T SI3T/Step boring
(c) T2 IFR & De/MBiggersizeholes (d) Y f&e/Blind holes

& 9T @ TR TR I3 & ARG HIUT qAT KT H A S FohT &l

Flank angle and form of a screw thread can be measured using

(a) afdER AU/ Vemier caliper

(b) dr W3/Vee piece .

() YT WA 24T qﬂ'?ﬁ Te/Slip gauge and precision rollers
(d) 9IS T&IAF/Optical projector

7 ' 1301/16



2. FEAETE 93 & wdeT 3q PeTREE #§ & B R B 59 R o 8

23.

24.

i

26.

Which of the following method is used for cutting multi start thread?

(2 o TR ¢ & YU IR & AT Har
Dividing the first driver of change gear train
(b) HUES WC & FRI TABS FT AT TIH & o ST

Moving top slide of compound rest to new position

(c) TWIIT %F ToIT HT 39T &eh/Using slotted face plate
(d) 3UdRT FVAL of the above

ﬂ?:laﬁlﬁ'qﬂ FT Sell ﬁ'cS HoT & I/Point angle of chisel for aluminium is

(@ 65° (b) 60°

() 30° (@) 55°

ST T N S 7jg qerdf #1 Feaarer g sos & g A &
Pitch of a hacksaw blade for cutting soft materials like bronze and brass is mm.

(@ 20 (b) 0.8

(c) 1.0 _ d 1.8

TICT (S13) & TR Tk MIOx 10T e om F e sdd arag — &
Blank size for M10 x 1.0 external thread using a die is

(a) 85 (b) 9.9

© 10.0 @ 10.1

e & 15 FfeEl @ aROT Tear # FUR 8 BT STaarer garas &
Ed & |/The operation done on riveted joints to improve leak tightness is

(a) '{If?ﬁﬁr Y&9UT/Shot peening

(b) PeclRaN/Fullering

(¢) goTI/Bucking

(d) i W/Spot facing

8 | 1301/16



27. aﬁ:l?ﬂfaﬁrm,nm#rm,Naﬁra{#mmaﬂTf $s § A ade gET T

28.

29,

30.

31

ganT e e §
If 7 is length of cut, # is number of cuts, N is rpm, and fis feed, then turning time 7 is given by
Ixn : Ix N
b
(@ XN (b) Fxn
i fxN
d
© nx N @ I xn

25H7p6 @ gfRIa fie —— fpe &

Fit designated as 25H7p6 is fit.
(@) TFTITT/Clearance 7 (b) HHAYT/Transition
(c) <aIfAFIO/Interference (d) &re/Loose

%WWWWWWWW%I

Tumbler gear mechanism is used to

(a) Wrs & e W/Change the direction of feed
(b) s T ¥ HRusT g aify &1 Yo I

To transmit the motion from the lead screw to the carriage
() TF H f&AT TR/ To change the direction of the chuck

(d) Flé? I a1 S/ To change the spindle speed

& 0% 9 &1 3igesta for € 1/Included angle of a prick punch is
(@ 30° (b) 60° (c) 45° (d 90°
dclel 3T T 9T YF P 3T W AT AT

Back rake angle of turning tool is measured on its

(@ FMeT 31?3'3'52’33’ del/Machine longitudinal plane
b) #AMNT 3I9E del/Machine transverse plane
(c) WSl del/Orthogonal plane

(d) HTYURUT Tel/Normal plane
9 1301/16




32.

33

34.

35.

TF TIE-TFRR & A B gt w9 ——— @A 9fd 10 B o T

Accuracy of measurement by a tri-squa;t'e is about ———— mm per 10 mm length.
(a) 0.002 (b) 0.050
(c) 0.020 (d) 0.010

m2984$3@m1,ﬁﬁmé€favaﬁwm$ﬁﬁ-ﬁa§mmﬁm

AT 87

As per IS 2984, which grade of slip gauge is used for inspection
(@) I3 00/Grade 00 (b) T 0/Grade 0

(¢) S I/Gradel (d) 33 I/Grade II

3R HEPS o U N NPUHT UGAH SPUNI12308 T oar 3er P Ry
A £9/1SO designation of a carbide tool tip is SPUN12308. Letter P stands for

(a) Heddr Aofl/Tolerance class ll

(b) 3{cRTel @IVT/Clearance angle

(¢) &9 ¥ AT AU/Class of chip breaker

(d) T FHA/Basic shape

qRR @ FdE R ag £ o 95 a@ # W TR W ¥ wh
FYITT|/Best wire size is the one which, when placed in the thread groove will make contact to the
(@ oY <qTd/Minor diameter

(b) T* SATH/Major diameter

(c) T SUA/Effective diameter

(@ 23 FT AW Crest of the thread

10 1301/16



36.

7

38.

39.

40.

ch.?tc;_wd ST WX

Tempering is done on hardened steel to

(a)
(®)
(©)
(d)

g &5 3K a@ﬁ/lmprove strength further

U7 Eﬁ%‘ H JUR dT=/Improve grain growth

TSAT FF HLa/Reduce toughness

A J= T EI,H:FQTIﬁ?‘T Fa1/Restore some ductility

& farr &afer foear arar g1

m%hwWWWﬁ%W%@mhwwm

& |/For tapping cast iron using a machine tap, the rake angle of the tap is

(@ 3° (b) 12°

€y 20° (d 10°

fordl oy W gaeT fd W FAeld (Knurling) fRar Srar g1
Knurling in a lathe is done at the turning speed. '
(a) TS fA8TS/One third

(b) @F{T/twice

(©) ael T dgl/same as

(d) IATeT/half

FONg TuE S el fr PEeua

ST %’I/Angular contact ball bearings are designed to take

(2)
(b)
(©
(d)

TG AT ARG & o Heldel shelol AT & 7E F
The portion of the cutting part enclosed between the face and the flank is called

(2)
(c)

3efir g2ar FEatR #R/Axial and vertical thrust

5 #/Radial load

37efrT 9oNE/Axial thrust

el gouig gar f3eT 9R/Axial thrust and radial load

F o & v fFaw

el ST gl

dT/Wedge (b) HEIM/Shank
JTYR/Base _ (d) IH “HW/Rake face
11 1301/16



41.

42.

43.

44,

45.

T & AES F 3THOT I FET 9 F FAT & w7 gew 7 S By

Only two perpendicular components of cutting force act on the tool in case of

cutting.

(a) fIIF/Oblique (b) HGHIOI/Orthogonal
() 3313d (d) AHAldd/Inclined

FOT GATY &7 39T F AT & R S g

A ring gauge is used to measure

(a) STET ST, olfehel ?ﬂﬂ'['é' #AG1/Outside diameter but not roundness
(b) INAS, cifched SIET I Agl/Roundness but not outside diameter
(c) SIed <Oy dAr IS &1Al/Both outside diameter and roundness

(d) adl dET A3/Only external threads

efave gl ———— BIem §V/A twist drill is
(a) UIRT shcleT 3YST/Side cutting tool

(b) 3T Fde 3YHIOT/Front cutting tool

(c) ORI el 3UUT/End cutting tool

(d) 3IH A TH 3 FEI/None of these

forely 3ter B & JfHer gareret & 9gFd AN F IH6R gl
The type of reamer used for reaming operation in a blind hole, is

(@) ¥T Felcs {7 R/Straight fluted reamer

(b) ETT &Y TSI Fe[es (A Left hand spiral fluted reamer

(c) QIU gIA TUIgIel Felcs {F/Right hand spiral fluted reamer

(d a7 I 15 81/Any one of these

Sof dosed B — &Y Fgl SATAT §1/Braze welding is also called as
(@) TId sTe91/Silver brazing

(b) TSR HIesA/Hard soldering

(c) STe9T/Brazing

(d) FET desa/Bronze welding

12
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46.

47.

48.

49.

50.

dAE & oA ——°C §1/Melting point of iron is ————°C.

(@ 327 (b) 419

(c) 659 (d) 1510

3ed AT & FEAA 3TV & HY AT Faliteh Falelal aTaHi= *
w9 Tl

With high speed steel tools, the maximum permissible operating temperature is close to

(a) 250°C (b) 540°C

(c) 780°C (d) 950°C

St TR & ufd P T A el

The amount of taper per foot of Jarno taper is

(@ 0.5189/0.51 inch (b)  0.60 ET/0.60 inch

(c) 1.504/1.50 inch (d) 1.453d/1.45 inch

d3ETH 4696 & AR, Th INERY I8 F 7R Aearen qred(Fel) -
3T gl &

In a saw tooth thread as per BIS 4696, the flank taking the load is inclined at

@ 7° (b) 45°

(c) 30° d 3°

A VT 3% mmin F ST AR, T co-EE Bt &, 0 @ C & o RuREt F ¥
& o § df Ta-as® g & aifd & g # FEY —— & far S g

If V is cutting speed in m/min, T is tool life in minutes, n and C are constants for a given set of

conditions, relationship between tool life and cutting speed is given by

»

(a) VT'=C (b) VC'=T
) TC'=V @ C'=VT
13 1301/16



51.

52,

83:

GIRESICH W,mmmwamﬁmw oo
FEd & l/Errors caused by external conditions such as temperature, air, humidity etc in

measurements are called

(a) HHAIG gﬁ?ﬁ/Systematic eITorIS
(b) ITEFSF FfeAT/Random errors
(c) TIS gﬁ‘qi'/COntact eITors

(d) W&ToT AfA/Observation errors

TF YoTHT W SAT # g &

A progressive limit gauge has

@ ‘Go’ @ ‘No Go’ He¥T JATHY & TH &I URA(HSS) W
‘Go’ and ‘No Go’ member on the same side of the gauge

(b) AT ‘Go’ TAT ‘No Go” HEHT
Separate ‘Go’ and ‘No Go’ member

(©) ‘Go’ HeE Tk fAY W AT ‘No Go’ Feedr @ fay W

‘Go’ member at one exid and ‘No Go’ member at the other end

(d) E‘Tci?:l—?f # ¥ ta 3 AE/None of the above

TF aET 95 §T F &9 F M12 x 1.25 5Sh6g RfAfese g1 wfesopar o= 6g

¥ gefa Bl
An external thread form is specified as M12 x 1.25 5h 6g. The tolerance indicated 6g applies to

(@) 3¥ ATH/Major diameter

(b) ©Eg cqrd/Minor diameter

(c) WHTAT <ATH/Effective diameter
(d) o«TS/Length

14 1301/16



54.

85.

56.

57.

Us 50 A IR & 31.4 #/fAee & afd @ Fea & AT tF Ay aF & fRaEr pm
ghm?

Find out the rpm of a lathe spindle for a 50 mm bar to cut at 31.4 m/min.
(a) 180 rpm (b) 200 rpm
(c) 220 rpm (d 314rpm

19 (19 ) 77 wha fueEr & af R Wa W 20 A6 {usE 7 [
fFT Feae T g Fow F1 ged AT s ————— gl

The least count of a vernier caliper in which 19 (19 mm) main scale divisions are divided into
20 equal divisions in the vernier scale will be

() 0.01 f.#7./0.01 mm () 0.02 fA.#./0.02 mm
@ 0019 fA.#./0.019 mm ) 0.05 f&.#./0.05 mm

200 A, S F U WEA IR BT GAT R §C 30° HOT F e Fdor gy A
ERIFRGUITGECTY

Determine the height of slip gauges for an angle of 30° using a sine bar of 200 mm length

(@) 100 fA.#r./100 mm (b) 150 fA.#./150 mm

(¢ 200 fA.#.200 mm (d 250 .#./250 mm

w By & A 09, AL § 38F IeEma doe 0 9, B & oF s

+0.000

glearer THaell ——— g
40,015
+0.000

+0.010

co00; Mm. The resulting

A hole is of dimension @ 9 mm. The corresponding shaft is of ©® 9

assembly is

(a) 2Ty AT Te/Loose running fit

" (b) e T fe/Close running fit

(c) THAUT e/ Transition fit
(d) afdeor fhe/Interference fit

15 1301/16



58.

58,

60.

61.

Qﬁlﬁ%gzugﬁ?ﬁaﬁrmﬁwaﬂﬁmmﬁﬁr.ﬁm$wﬁ%ﬁm$iﬁv
Teh ITHIOT & FHael T gl

Find the cutting speed for a tool to cut a shaft of 14 mm radius rotating at 2 revolutions per second

(@ 10.56 #./fA€/10.56 m/min (b) 5.28 H./fATE/5.28 m/min
(c) 0.88 HI./fAAC/0.88 m/min (@) 1.76 #Hr./fAE/1.76 m/min

M10 x 1.5 & T 95 41 srews fdelr 819717/ What is the depth of thread for M10 x 1.5?

(@) 0.92 fA.A/0.92 mm () 1.5 FA/15mm
(© 02 fAAL/02mm d 0.05 fir.ﬁr./o_.osmm

12 ool S Y& o7 G 6 Rl dhee FFrTRd FOT ¥ FFA T IURT F PA T
wwwﬁ$éﬁﬁ2ﬁ.3ﬂ.mwﬁuwﬁtﬁmm%lwm
mmﬁ@mﬁrﬁgaﬁaa:ﬁﬁwmﬁqﬁﬁﬁaﬁsﬁaﬁqui
4 fealt iR o S ¥1 TS Y T AT TR 0T FH: T

A tool with a top rake angle of 12 degree and a front clearance angle of 6 degree is set on a lathe at
a level 2 mm above the centre of a circular rod being turned. The point where tool tip touches the
job subtends 4 degree from the horizontal line joining the centre of the job to the periphery of the
job. The effective rake angle and clearance angle respectively are

(2) 16 TT/and 2 38fl/degree (b) 8 dUT/and 10 f3M/degree
(c) 8dYUl/and 2 f3afl/degree (d) 1l6d¥Ur/and 10 f3afi/degree

40 B.#Y. =g gur 100 s e % ue #g 3T &3 A 0.1 .. At & $is
aﬁgwmmaﬂwmﬁy@éﬁ%ﬁwmﬁmﬁm
AT FT ST E1 200 pm Y AR ¥ aGA FHT ————— ET

A mild steel rod of dia 40 mm and length 100 mm has to be turned to dia 30 mm in one cut for full
length using HSS tool with a feed rate of 0.1 mm/revolution. Determine the turning time with a
speed of 200 rpm

(a) 2@ min. (b) 10 fAE/10 min.
(c) 5 TAE/S min. (@) 15 fA=E/15 min.
16 1301/16



62.

63.

64.

65.

A ST fF v AU IUSOT FT ee FageT Hior 8 B § v M I 15 =Eh
G o | —

Assume that front clearance angle of a lathe tool is 8 degree and top rake is 15 degree. Then the

wedge angle is

(@) 673367 degree (b) 23 3301723 degree

(c) 15 T33/15 degree (d) 90 f33M/90 degree

12 §9 8" TF S T I @6 W N add & v aas wo w@iF F e
AT F 0T AT, GF Had:2 ST 9 1.5 T & & T g

Calculate the amount of offset of tail stock for turning taper on full length of a job 12 inch long
which is to have its two diameters as 2 inch and 1.5 inch ultimately.

(@) 0.50 39/0.50 inch (b) 0.1539/0.15 inch

(¢) 0.2539/0.25 inch (d) 0.20 9/0.20 inch

Tl gfaeel @ Hod 3aier 7 waare W3 i w&daar & #ife —— g 8
A body in space free from all restraints have degrees of freedom '

(@ 2 (® 3

(c) 4 @ 6

H e w1 & U g 2w e #1392 ¢ BT ST RTl/The

quick helix drill should never be used to drill

(a) draT/Copper

(b) drdcl/Brass

(c) g $EUTA/Mild steel
(d) SEREY STTd/Stainless steel

17 1301/16



66.

67.

68.

69.

I s T A 6 TPL § AR IUE S # 4 FEIGFT Qe § A IguEs
SRIeT & I TH H ard gl

If the lead screw has 6 T.P.I. and if there are 4 numbered divisions in the chasing dial, the number

of teeth in the worm wheel of the chasing dial will be
(@& 20 (b) 10
() 24 (d) 40

6 . R & ofis & 3N 60 ad@ F gBR R 4§ Iod fhdl oy § & Sl W
us 3 fAs fT 93 & Fea o nfad ARl & 939 Fa & v 9o @ R |

gid gle ARl
For selecting the gears required to cut a 3 mm pitch thread on a job in a lathe having a lead screw of
6 mm pitch and a driver gear of 60 teeth, the driven gear shall have ————————— number of teeth.
(@ 30 (b)y 120
(c) 250 , (d) 100

20 fA.#. <o @ 50 fAA. daS @ IFd Ed F SR ST F GeIAE I

_ g. ¥| SEATE $ FEAAT 8 g/om’ ¥
The mass of a cylindrical job of steel with a diameter of 20 mm and length 50 mm is about
g. Density of steel is 8 g/cm’

(a) " 250 - ) h) 125

() 600 (d 50

TN WY & Bl FA F W S FFdr g5 H Fald oaTs .
Tl FAY & ured 34T B

The maximum length of a rod which can be kept in a room of cubical shape is m . The

side of the room is 3 m

@@ 9 (b) 12
() 27 @ 21
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If ‘D’ is big diameter, ‘d’ is small diameter and ‘I’ is length of a tapered work piece, the half
included angle(a) of taper is given by

(@) tan” { (D-d)/1} (b) tan’ { (D-d)/21) }
(¢) tan’ {1/(D-d)} (d) tan! { V(2D-d)}

T HY-god # 3ifeha HoT gARm et 1 gar &
The angle inscribed in a semicircle is always degrees.

(a) 180 (b) 90

(c) 45 (d) 60

10 fA. O & vs AAfAT TSHER SA0 o7 FFaarel U6 Jo@R S & q6d
937 3R gl

The maximum size of a cylindrical job that can be turned from a regular hexagonal rod of side

10 mm is
@ 5V3 ®) 10v3
(©) 10 d 3v3

500 mm x 1000 mm 3SR & TH e (2MT) F 100 mm x 100 mm HFR & frdar giaR
FIC AT Thd g7

How many squares of size 100 mm x 100 mm can be cut from a sheet of size 500 mm x 1000 mm?
(@ 55 (b) 50
© 5 (d 10

10 A =9 & €3 A 100 pm ¥ Wed AT FAT Iga0T fr sdeT I1fa
#r./fAae &

The cutting speed of a tool when turning 10 mm diameter rod with 100 rpm is -

m/minute
(a) 314 (b) 3.14
(c) 314 (d 300
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sin 390° T qa £ 1/The value of sin 390° is

(a) (b)

Nlr b=

(d)

W | =
Nl

(©)

U W T Ftafer AaR W R w1 d@Er g w2 & @ F For 60 R ¥
HEr aur §aR & &€ F1 ST fhaer &7

A ladder is leaned against a vertical wall. The angle between the ladder and the floor is 60 deg.
What is the angle between ladder and wall?

(@ 40 f33f/deg (b) 30 33f/deg
(c) 90 f33f/deg (d) 45 f33f/deg
23+ 5% qe & 1/The value of 2%+ 52
(@ 16 (b) 18
() 33 d 29
X~ 10x+24 =0 GHFIOT & HqHel & |/Roots of the equation x’— 10x+24 =0 are
() =54 () 6,4
(c) 6.-4 @ 6,4
4 X9 ’4 X9 |
e $T Hed & 1/The value of g I8
5 ; 6
@ < ®) <
36 6
© @ 93

¥, 5000 Fr A Fr T ¥ FH F. 500 FT IS YT glam &1 T i &3 vder &2
A sum of Rs. 5000 yields an interest of Rs. 500 in a year. What is the rate of interest?

(a) S% (b) 50%
© 20% | @ 10%
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